
SAP ABAP table EAMVE_S_OUTTAB {EAMVE outtab}

EAMVE_S_OUTTAB

MANDT [CLNT (3)]

DOKAR [CHAR (3)]

DOKST [CHAR (2)]

LABOR [CHAR (3)]

AENNR [CHAR (12)]

WERKA [CHAR (4)]

PREAR [CHAR (3)]

DTTRG [CHAR (10)]

DAPPL [CHAR (3)]

DTTRG1 [CHAR (10)]

DAPPL1 [CHAR (3)]

DOKOB [CHAR (10)]

AENR

MANDT [CLNT (3)]

AENNR [CHAR (12)]

 EAMVE_S_OUTTAB-AENNR = AENR-AENNR 
0..N

1

T000

MANDT [CLNT (3)]

 EAMVE_S_OUTTAB-MANDT = T000-MANDT 
0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 EAMVE_S_OUTTAB-WERKA = T001W-WERKS 
0..N

1

T024L

MANDT [CLNT (3)]

LABOR [CHAR (3)]

 EAMVE_S_OUTTAB-LABOR = T024L-LABOR 
0..N

1

TDWA

MANDT [CLNT (3)]

DOKAR [CHAR (3)]

 EAMVE_S_OUTTAB-DOKAR = TDWA-DOKAR 
0..N

0..N  EAMVE_S_OUTTAB-PREAR = TDWA-DOKAR 
0..N

1

TDWD

DTTRG [CHAR (10)]

 EAMVE_S_OUTTAB-DTTRG = TDWD-DTTRG 

0..N

0..N

 EAMVE_S_OUTTAB-DTTRG1 = TDWD-DTTRG 
0..N

1

TDWO

MANDT [CLNT (3)]

DOKAR [CHAR (3)]

DOKOB [CHAR (10)]

 EAMVE_S_OUTTAB-DOKOB = TDWO-DOKOB 

0..N

0..N

TDWP

MANDT [CLNT (3)]

DAPPL [CHAR (3)]

 EAMVE_S_OUTTAB-DAPPL = TDWP-DAPPL 

0..N

0..N

 EAMVE_S_OUTTAB-DAPPL1 = TDWP-DAPPL 

0..N

1

TDWS

MANDT [CLNT (3)]

DOKAR [CHAR (3)]

DOKST [CHAR (2)]

 EAMVE_S_OUTTAB-DOKST = TDWS-DOKST 

0..N

1


